Math 217






Name: __________________
2-9-06
Quiz for Section 2.4
A study of nutrition in developing countries collected data from the Egyptian village of Nahya.  Here are the mean weights (in kilograms) for 170 infants in Nahya who were weighed each month during their first year of life:
	Age (months)
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	Weight (kg)
	4.3
	5.1
	5.7
	6.3
	6.8
	7.1
	7.2
	7.2
	7.2
	7.2
	7.5
	7.8


Here are the same data in a scatterplot, with a regression line:
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Mean Weight (kg) = 4.88 + 0.27 * age

R-Square = 0.82

Scatterplot of Mean Infant Weight vs. Age in Nahya


1.  (3 pts)  What evidence do we have that the regression line is an acceptable model for the scatterplot?  Be very specific.
2.  (4 pts)  Here are the residuals from the least-squares line:  

	Age (months)
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12

	Residual
	-0.85
	-0.31
	0.02
	0.35
	0.58
	0.62
	0.45
	0.18
	-0.08
	-0.35
	-0.32
	-0.28


Use the graph paper to plot the residuals against age and add a horizontal line at 0.  Use appropriate scales and axis labels. 

3.  (3 pts)  What evidence do we have that the regression line is not a very good model for the scatterplot?  Be very specific.
